$h Y_{JM} = -\mu \mathcal{E} \left\{ \begin{bmatrix} J^2 - M^2 \\ J - I \end{bmatrix}^{1/2} Y_{J-IM} \right\}$ + $\left\{ \frac{(J+1)^2 - M^2}{(2J+1)(2J+3)} \right\}$ $Y_{J+1,M}$ $h_{00}^{Y} = \pi \mathcal{E}\left\{0 + \left(\frac{1}{3}\right)^{K} Y_{10}\right\}$ $h Y_{10} = -\mu E \left\{ \frac{1}{3} Y_{00} + \left(\frac{4}{3 \cdot 5} \right)^2 Y_{20} \right\}$ $h Y_{ii} = -\mu E \left\{ 0 + \left(\frac{3}{3} \right)^{4} Y_{2i} \right\}$ $h Y_{1-1} = -M \mathcal{E} \left\{ 0 + \left(\frac{3}{3.5} \right)^{h_2} Y_{2-1} \right\}$ $h Y_{20} = -\pi \mathcal{E} \left\{ \frac{4}{3\times 5} \right\}_{10}^{1/2} + \left(\frac{4}{5\times 7} \right)_{20}^{1/2} \right\}$ $\frac{J=1}{M=-1} \quad 0 \quad 1$ -2 D 下 豪 Ô Ö い O

 $E_{JM}^{(2)} = -\left|\left\langle J-i,M\right|h\left|JM\right\rangle\right|^{2} - \left|\left\langle J+i,M\right|h\left|JM\right\rangle\right|^{2} - E_{J-i}-E_{J}\right|^{2}$ $E_{JM} = E_{JM}^{(6)} + E_{JM}^{(0)} + E_{JM}^{(2)}$ (6) $= \frac{t^{2}}{2I} J(J+1) + (JM) h (JM) - \frac{(J^{2} u^{2})}{(2J-1)(2J+1)} \cdot u^{2} \ell^{2}$ always (J-1)] -J(J+1)] +2 Zeto $-((J+1)^{2} - M^{2}) \cdot M^{2}E^{2}$ (2 J+1)(2 J+3) -2J - [[J+1)(J+2) - J(J+1)] z(J+1). Two lowest energy levels become changed + $E_{00} = 0 + 0 - \left(\frac{-\mu E}{\sqrt{3}}\right)^2 = -\frac{\mu^2 E^2}{3 \pi^2/I}$ 2 12 -0 $E_{10} = \frac{2t^{2}}{3t} + 0 - \left(\frac{-m\epsilon}{\sqrt{3}}\right)^{2} - \left(\frac{-2m\epsilon}{\sqrt{3}}\right)^{2}$ $\frac{1}{2} - \frac{2h^2}{2I} = \frac{2(3)h^2 - 2h^2}{2T}$ $= \frac{\pi^{2}}{I} + \frac{\sqrt{2}E^{2}}{3\pi^{2}/I} - \frac{4\pi^{2}E^{2}}{1c(2\pi^{2}/I)}$ $= \frac{t^2}{T} + \frac{\mu^2 \varepsilon^2}{5 t^2 t^2}$ $E_{11} = E_{1-1} = \frac{\pi^{2}}{1} + 0 - \left(\frac{-\mu E}{\sqrt{5}}\right)^{2} = \frac{\pi^{2}}{1} - \frac{\mu^{2} E^{2}}{10 \pi^{2} / 1}$

2

(c) ¥,0 $-\left(\frac{-\mu \varepsilon}{\sqrt{3}}\right) Y_{10}(\theta,\phi)$ $= Y_{00}(\phi,\phi)$ 242-0 $\underline{F}_{00} = \underline{Y}_{00}(\theta, \phi) + \underline{u} \underbrace{\mathcal{E}}_{V_{3} \pm 2/I} \underline{Y}_{10}(\theta, \phi)$ small (d) EXAMPLE : 3 % 2.0 $\Delta(\Delta \nu)$ DV, MHz J=2 J=1 J= 0 with E w/o 200 50 100 150 ¥², (V/cm)²×10⁻⁴ Stark effect for CO. AJ=±1 Åm=d enice cos & YJM = m YJ-1, M + m YJ+1, M sma nop in transition The tahirt of the first transition = $\frac{\mu^2 E^2}{\pi^2 I} \left(\frac{1}{3} + \frac{1}{5} \right)$ 100> -> 110> $\frac{\pi^2 I}{4} \left(\frac{1}{3} + \frac{1}{5} \right)$ (e) Thus if E is accurately known and the moment of inentia is of course obtained from the trequency of the first transition in the absence the of the field, th'I, then it can be obtained. Also can get it from the splitting of the second peak when E is applied, as in the example shown above

(2)(a) Eigenfunctions of H, are: $\Psi_m(\phi) = \overline{tare} \quad m = 0, \pm 1, \pm 2;$ (b) Eigenvalues are pund by: -ti² -ti² 2meR² (im)² <u>L</u>e = Em <u>L</u>e Var = Em <u>Var</u> $E_m = \frac{m^2 \hbar^2}{2m_1 \rho^2}$ (C) Hz commutes with Hy : Show this. $+ \frac{e^2 B_3^2}{8mc^2} R^2$ H2=H, + MBB2 . # d i dop $[H_2, H_1] = [H_1, H_1] + [u_8 B_2 + d_1 - f^2 d_2]$ + $i d_4 - f^2 d_2$ $+\left[\frac{e^2 B_3^2}{8mc^2}R^2, -\frac{4i^2}{2mek^2}d^2\right]$ O since H, commutes with itself, d commutes with d² and do constant commutes with d² a constant commutes with d² (d) Since H2 commutes with H1, the eigenfunctions of Hz are also $\Psi_m(\phi) = \lim_{t \to T} e^{im\phi} m = 0, \pm 1, \pm 2, ...$

Get the eigenvalues : We will need ing The Ym(\$) = the to the entry = xint e $H_{2} Y_{m}(\phi) = \frac{m^{2}h^{2}}{2mel^{2}} \frac{f_{m}(\phi)}{f_{m}(\phi)} + \frac{M_{8}B_{8}}{4} \cdot \frac{m\pi}{f_{m}(\phi)} + \frac{e^{2}B_{8}^{2}R_{4}^{2}(\phi)}{8mc^{2}}$ $= \left[\frac{m^{2}h^{2}}{2m_{e}R^{2}} + \left(\frac{u_{B}B_{z}}{8m_{e}C^{2}} \right) m + e^{2}\frac{B_{z}^{2}R^{2}}{8m_{e}C^{2}} \right] \frac{\psi(\phi)}{m}$ These are the eigenvalues with Bz (e) without $E = \frac{\pi^2}{2m_e R^2} + M_B B_E + \frac{e^2 B_0^2 R^2}{2m_e C^2}$ $E = \frac{1^2}{2m_e R^2} - M_B B_2 + e^2 B_e^2 R^2$ ----- $E = \frac{e^2 B_2^2 R^2}{g m_e c^2}$ m= 0 (f) see above assignments of 6 electrons into states. By <u>separation of variable</u> we get eigenvalues which are a simple sum Equent = 2 (0 + 12 + (1)2) + 22 3 m. e2 and eigenfunctions which are a single PRODUCT Var Ver Var In the presence of a field the wavefunctions are the same is the same and the energy is Equal = $e^2 B_2^2 E^2 \cdot 6 + 2 \left[0 + 1^2 + (1)^2 + \frac{1}{2mR^2} \right]$ $\frac{g}{2} = \frac{\partial^2 E}{\partial \sigma^2} = \frac{p e^2 R^2}{R^2}$ 8 mecz, the ning-current contribution 8 mecz, to magn. susceptibility g Benzene 2B2

 $3E_{n}^{(0)} = n^{2}h^{2}$ the eigenvalues of the importanted particle on a line. $E_n^{(1)} = \int_{0}^{a} f_n^{(1)} h f_n^{(1)} dx = -q \mathcal{E} \times_{nn} = -q \mathcal{E} \frac{a}{z}$ $E_{n}^{(2)} = -\sum_{k \neq n} \frac{|h_{kn}|^{2}}{E_{k}^{(0)} - E_{n}^{(0)}} = -\sum_{k \neq n} \frac{|h_{kn}|^{2}}{\frac{h^{2}}{8ma^{2}(k^{2} - n^{2})}}$ $= -\sum_{k \neq n} \frac{g(z)^{2} (x_{kn})^{2}}{\frac{h^{2}}{8ma^{2}} (k^{2} - n^{2})} = -\frac{8ma^{2}g^{2}z^{2}}{h^{2}} \sum_{k \neq n} \frac{|x_{kn}|^{2}}{k^{2} - n^{2}}$ $= -\frac{8ma^{2}q^{2}\xi^{2}(44)}{f^{2}} \sum_{\substack{k\neq n \ k\neq n}}^{2} \frac{kn\{(1)^{2}-1\}}{(k^{2}-n^{2})^{5}}$ $\Psi_n = \Psi_n^{(0)} + \Psi_n^{(1)}$ $\Psi_{n}^{(l)} = -\sum_{\substack{k \neq n \\ k = -E_{n}^{(0)}}} \frac{h_{kn}}{F_{k}^{(0)}} \frac{\Psi_{k}^{(0)}}{F_{k}^{(0)}}$ to zero whenever Hen is even $= -\frac{8ma^{2}}{h^{2}} \sum_{L+1}^{-9} \frac{g}{k} \frac{x_{kn}}{k^{2}-n^{2}} \frac{f(x)}{k}$ $= + \frac{8ma^{2}q}{h^{2}} \frac{4a}{\pi^{2}} \sum_{k \neq n} \frac{kn}{(t^{2}-n^{2})^{3}} \frac{f^{(0)}}{k} (x)$ The two lowest levels $E_{i}^{(2)} = -\frac{8ma^{2}}{4^{2}}g^{2}E^{2}\left(-\frac{8a}{\pi^{2}}\right)^{2} \sum_{k=even}^{(1,k)^{2}} (\frac{1}{k^{2}-i^{2}})^{3}$ $E_{2}^{(2)} = -\frac{8}{h^{2}} ma^{2} g^{2} E^{2} \left(-\frac{8a}{\pi^{2}}\right)^{2} \sum_{\substack{k=0 \ \text{odd}}} \frac{(ke)^{2}}{(k^{2}-2^{2})^{3}}$

6

 $E_{z} = \frac{z^{2}h^{2}}{8ma^{2}} - g \frac{\epsilon_{a}}{2} + E_{z}^{(2)}$ $E_{1} = \frac{1^{2}h^{2}}{8ma^{2}} - \frac{gE_{q}}{gE_{1}} + E_{1}^{(2)}$ The wavefunctions concert to first order $\frac{F_{1}(x) = \binom{2}{A} \lim_{x \to \infty} (\frac{\pi}{A}x) + \frac{8ma^{2}}{h^{2}} g_{E} \left(\frac{-8a}{\pi^{2}}\right) \sum_{k=1}^{k} \frac{k}{(k^{2}-1)^{3}} \lim_{k \to \infty} (\frac{\pi}{A}x)$ $\underline{\mathcal{I}}_{2}(x) = \left(\frac{2}{A}\right)^{2} \frac{\sin(2\pi)}{4} + \frac{8ma^{2}}{h^{2}} \frac{g}{g} \left(\frac{-8a}{\pi^{2}}\right) = \frac{2k}{(k^{2}-1)^{3}} \frac{f}{k} \left(\frac{2}{k}\right)$ Or else, take quantities directly from given matrix: $E_1 = \frac{1^2h^2}{8ma^2} - \frac{9E_4}{2} - \frac{8ma^2}{h^2} q^2 E \left(\frac{-8q}{TT^2}\right)^2 \left(\frac{(2/q)^2}{2^2 - l^2} + \frac{(4/225)^2}{4^2 - l^2} + \frac{(6/225)^2}{6^2 - l^2} + \cdots\right)^2$ $E_{2} = \frac{2^{2}h^{2}}{8ma^{2}} - \frac{g^{2}A}{2} - \frac{8ma^{2}g^{2}E^{2}(-8a)}{h^{2}} \int \frac{(2^{2}q)^{2}}{(T^{2})} + \frac{(6/25)}{3^{2}-2^{2}} + \frac{(10/441)^{2}}{5^{2}-1^{2}} + \frac{(10/441)^{2}}{5^$ $\begin{array}{c} (1) = \begin{pmatrix} 2 \\ -4 \end{pmatrix} \lim_{X \to 0} \frac{1}{4} + 8 \frac{ma^2}{4} g_{2}^{2} \begin{pmatrix} -8a \\ -12 \end{pmatrix} \begin{pmatrix} 3/4 \\ -12 \end{pmatrix} \begin{pmatrix} 4/2 \\ -2 \\ -12 \end{pmatrix} \begin{pmatrix} 4/2 \\ -12 \end{pmatrix} \begin{pmatrix} 4/2 \\ -12 \end{pmatrix} \begin{pmatrix} 4/2 \\ -12 \end{pmatrix} \begin{pmatrix} 6/2 \\ -2 \\ -12 \end{pmatrix} \begin{pmatrix} 0 \\ -12$ $\underbrace{I_{2}(x)}_{A} = \begin{pmatrix} 2 \\ 4 \end{pmatrix}^{2} \sin \frac{2\pi}{A} + \frac{8ma^{2}}{A^{2}} g_{2} \begin{pmatrix} -8a \\ -8a \end{pmatrix} \begin{pmatrix} 74 \\ 74 \end{pmatrix} \begin{pmatrix} (0) \\ 74 \end{pmatrix} + \frac{6/25}{3^{2}-2^{2}} \begin{pmatrix} (0) \\ 5 \end{pmatrix} + \frac{10/44}{5} \begin{pmatrix} (0) \\ 74 \end{pmatrix} \begin{pmatrix} (0) \\ 74 \end{pmatrix} + \frac{6}{5^{2}-2^{2}} \begin{pmatrix} (0) \\ 74 \end{pmatrix} + \frac{6}{5^{2}$

To evaluate the matrix elements of operator x in the complete set of eigenfunctions of a particle on a line between 0 and a: We already know the diagonal elements are equal to a/2

$$x_{mn} = \int_{0}^{a} \Psi_{m}^{*}(x) x \Psi(x) dx \quad \text{for } m \neq n$$
$$= \frac{2}{a} \int_{0}^{a} \sin(\frac{m\pi x}{a}) x \sin(\frac{n\pi x}{a}) dx$$

Given the identity: $2\sin(mx)\sin(nx) = \cos[(m-n)x] - \cos[(m+n)x]$ $x_{mn} = \frac{1}{a} \int_{0}^{a} \left\{ x \cos[\frac{(m-n)\pi x}{a}] - x \cos[\frac{(m+n)\pi x}{a}] \right\} dx$

Given the integral :
$$\int x \cos(px) dx = \frac{x \sin(px)}{p} + \frac{\cos(px)}{p^2}$$
$$x_{mn} = \frac{1}{a} \left[\frac{x \sin\frac{(m-n)\pi x}{a}}{\frac{(m-n)\pi}{a}} + \frac{\cos\frac{(m-n)\pi x}{a}}{\frac{(m-n)^2 \pi^2}{a^2}} - \frac{x \sin\frac{(m+n)\pi x}{a}}{\frac{(m+n)\pi}{a}} - \frac{\cos\frac{(m+n)\pi x}{a}}{\frac{(m+n)^2 \pi^2}{a^2}} \right]_0^a$$

sin is zero at both upper and lower limits, so we have:

$$x_{mn} = \frac{1}{a} \left[\frac{\frac{\cos((m-n)\pi)}{a} - 1}{\frac{((m-n)^2\pi)^2}{a^2}} - \frac{\cos((m+n)\pi)}{\frac{((m+n)^2\pi)^2}{a^2}} - \frac{1}{\frac{(m+n)^2\pi}{a^2}} \right]$$

When m - n = even, m + n = even also, in which case, $\cos(m - n)\pi = +1$ and $\cos(m + n)\pi = +1$, so that both numerators in the above equation are zero and $x_{mn} = 0$.

On the other hand, when m - n = odd, m + n = odd also, in which case $\cos(m - n)\pi = -1$

$$\begin{aligned} x_{mn} &= \frac{a}{\pi^2} \left[\frac{\cos[(m-n)\pi] - 1}{(m-n)^2} - \frac{\cos[(m+n)\pi] - 1}{(m+n)^2} \right] \\ &= \frac{a}{\pi^2} \left[\frac{-2}{(m-n)^2} - \frac{-2}{(m+n)^2} \right] = \frac{-2a}{\pi^2} \left[\frac{1}{(m-n)^2} - \frac{1}{(m+n)^2} \right] \\ &= \frac{-2a}{\pi^2} \left[\frac{(m+n)^2 - (m-n)^2}{(m-n)^2(m+n)^2} \right] = \frac{-2a}{\pi^2} \left[\frac{4mn}{(m-n)(m+n)(m-n)(m+n)} \right] \\ &= \frac{-8a}{\pi^2} \left[\frac{mn}{(m^2 - n^2)^2} \right] \end{aligned}$$
Thus,
$$x_{mn} = (4a/\pi^2)mn\{(-1)^{m-n} - 1\} \{m^2 - n^2\}^{-2} \text{ for } m \neq n$$